D T REEREEREEEEFEAEREEEREERRRRRKRRE (2586)
2 % SCHRIFTGENERATOR * (253A)
3 ' : VoN * (25F3)
4 ' MARTIN SACHENBACHER ¥ (2524
5 % FUER * (255C)
6 % SCHNEIDER CPC-WELT * (2528)
7 '# CPC 464 JEX (25ED>
8 THERKRERAREFNFEREFRERREKRRKRRARN (2514)

18 DEFINT a-z:i$=CHR$(24) :adr=PEEK
(8AEB4) %256+ PEEK(8AE83)-708 (355B)
20 MODE 2:PRINT”SCHRIFTGENERATOR 4
64/664/6128 by Martin Sachenbache

r” :PRINT (4259>
38 p$="hoehe ":u$="d”:n$="Doppelt

so hoch” :GOSUB 68 :sy=a (4242)
40 p$="breite ":n$="Doppelt so bre
it”:GOSUB 68:sx=a/2 (3D13)
50 p$="art ":u$="i":n$="Invers” :60

SUB 68:G0T0 99 (31F@>

68 PRINT :PRINT i$” Schrift”p$:PRIN
T:PRINT” N "i$"ormal oder "i$” "LE
FT$(n$,1)” ”i$;RIGHTS (n ,LEN(n$)-1
»wr oy (6626
78 a%=LOWERS (INKEY$) :IF a$="n"THEN
a=4:PRINT"Normal”ELSE IF a$=u$THE



¥ a=2:PRINT n$ELSE 78 (4993
88 PRINT :RETURN ‘ {B8CB>
98 PRINT:IF sx=2 THEN t=1 ELSE t=2
(1E1E)
188 FOR i=8 TO 2:PRINT”Mode”i”max .
"INT((i%18+(i=8)%(=-5))/t)"Zeichen”

:NEXT {4B64)
118 PRINT :PRINT i8"Text:”i$” ”;:LI
NE JNPUT ¢ (2236
120 1=LEN(t$):IF 1)28/¢ THEN t$=LE
FT$(t¢,1-1):GOTO 128 (3A9E)
130 CLS:IF a=2 THEN PRINT i$;t¢;i8
ELSE PRINT t$ (252B)
148 PRINT :PRINT”Berechnen...”:LOCA
TE 1,3 <1BDD)
158 FOR y=399 TO 384 STEP-sy:s=8 <2836)
1680 FOR x=8 TO 8%1~1 STEP sx (1B7F)

170 a=128+TEST (x,y)+2¥TEST (x+ (sx-1
),y)+4%TEST (5 ,y-5y/2)+8*TEST (2+ (s%

~-1),y-sy/2) (6E9C)
188 POKE adrts+z,a:s=s+l (27A1)
190 NEXT :z=z+89 (1335)

208 NEXT :PRINT”Bitte Zehnerblock—<

8> druecken” :KEY 8,”1list”+CHR$(13)
:DELETE-284 (3F8F)
1088 PRINT”

n .

: (59E8)
1818 PRINT”
Y3 (59FC)
1820 PRINT”
3 (598F)
1838 PRINT”
o (5924)
1848 PRINT”
3 (5938)
1858 PRINT”
0 $594C)
1068 PRINT”
" <5968)

]
1878 PRINT”

s 5974



